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97677

BCA 5in Semester
Examination — December, 2022
MANAGEMENT INFORMATION SYSTEM
Paper: BCA-301

Time : Thyee Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been Supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Note . Attempt five quesﬁons in all, selecting one question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

1. (a) Whatis EDP ?
(b) What is sub system ?
(c) Whatis Informal system ?
(d) What is level of management ?
(e) What do youmean by evaluation of MIS ?
(f) How to analysis information system ?
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(g) What ;s B-Business system ?

g 3

(h) Define Funcﬁonal MIS.
UNIT — |

2. (a) What do you mean by system ? Explain different
type of system. ‘

(b) What is mformahon system ? Describe the role of

information sys tem in dec131on making.
3. Explain:
() MIS

(@) DSS

What is MIS ? What are the charactenshcs of MIS ?
Describe framework for MIS

(a) Explain Simon's model of DeCiSion making

(b) Differentiate between Structure and unstructured
decision.

L
UNIT - 111

Howri 1o design Management information system ?
Explain in details
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7. (a)

(b)

jon
: format_lo :
How to evaluate Managcment In ;

system ? Explain.

| Jan for
e CF , 0
What is implementation ? HOW to P

implementation MIS ?

UNIT ~ IV

: . ; in production
8. Discuss the roll of information system 1 P

Management.

L 9. (a)

P [ f
What is B-Commerce ? What are the application ©

E-Commerce.

(b) Describe how decision sup_po_rt system help mn

Q7677-

Control ?
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97678

BCA 5th Semester
Examination — December, 2022

COMPUTER GRAPHICS A
Paper : BCA-302

Time : Three hours 1 - L [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, wzll be entertamed @fter exammatzon

Note : Queshon No. 1 is compulsory Attempt  four

questlons by selectmg one questmn from each
Unit. All queshons carry equal marks

e (a) What 1s random scan system 7

(b) What is meant by coord_inatg _ systems
transformahon’ TR v e :

(c) Whatis 2D viewing transformation ?

(d) What is interactive computer graphics ? State its
relevance.

(e) What are v1ewmg coordmates ? I]lustrate

(f) Whatis quadnc surface ?
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(g)
(h)

2. (a)

®)

3. Explam the followmg

()
(b)

4. (a)

(b)

What is 3D shearing ?

Why Bresenham's line algorithm is preferreqg over
DDA line algorithm ¢ 2% 8=16

UNIT -1

What do you mean by flood-fill algorithm ? What
is its relevance ? Nlustrate. 5

What steps are I‘Fé‘quired_ to plot a line whose slope
is between 0 and 30° using Bresenham's method ?
Indicate wh1ch raster locations would be chosen
by Bresenham S algonthm when scan—converhng a
line from. screen coordmate (2 5) to screen

e e 4]

coordmate (6 10) ;;j}

Elhpse Algonthm-:
Plasma Dlsplays

What is Cyrus—beck Lme Chppmg algorlthm ?
Ilustrate through a su1tab1e example Sl

Yo

@

Find the normahzatlon transformahon that"'fﬁapéia =

window whose lower left corner 1s at (2, 3) and
upper right corner is at (7, 10) ontoniniy i 0

(i) A viewport that is the entire -nnormalized
device screen and

(ii) A viewport that has lower left corner at (0, 0)

and upper right corner (%, %).
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.. Explain the following :
@20 Shearing Transformation 8
- ®) sutherland-}lodgeman polygon clipping algorithm 8
fg}‘ - | UNIT - Il |
6. (a) What are polygon-rendering methods ? Which

method is most popular ? Justify your answer. 8

~(b) What, are Bezier surfaces ? How are these

Iepresented ? [Illustrate their relevance in
graphlcs . " 8

s Explam the followmg

‘ }-(a) Herrmte Curve f = 8

(b) Illummat1on Models

s1gmf1cant ‘e Illustrate = 8 -

(b). What 1s meant by v1ew1ngip1pehne ? lllustrate ‘ 8

9. Explain the followmg 7
(a) 3D Comp031te Transformahons .08

(b) 3DReflect10n ‘ sl 8

97678-4,200-(P-3)(O-9)(22l = (:3)
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97679

BCA 5th Semester
Examination — December, 2022

DATA COMMUNICATION AND NETWORKING
Paper: BCA-303 -

Tinme : Three hours | [ Maximum Marks : 80

Before answer ing the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Note : Attempt five questions in all. Question number 1 is
compulsory. In adrd-iﬁon: to compulsory question,

) attempt four more questions selecting one question
‘ from each Unit.

1. Compulsory Questton
(a) leferentlate between topology and protocol.
(b) State the purpose of layerlng in network
(c) How data can be represented as analog signal ?
(d) List out various modulation techniques.

" (e) Differentiate between Fast Ethernet and Gigabit
Ethernet.
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of NIC in Network 2
tis the use !
() Whak s o

( .
i) Discuss various security threatg,
(h)

UNIT - |

) What s Flooding ?

2 Differentiateosréﬁa TCP/1p model. Discygg v
; e tF ddre’ssésf*'assoc"ia-ted with the la
TCP/IP model.

ariOUS
yers of

3. Differentiate beﬁveeﬁ_?j centralized ang distributeq
systems. How communication is performed in theg,

-two models ?

4. (a) Explaiﬁ vanousda r}ggdiﬁng »‘techlii_ques in brief.

®) Compare multlevel, muliplesot and pulse suffe

? Explain various techniques

5. (a) What is Modulaﬁon. .
of modulation,

) What is Switching 2 How packet switching is
different from meSsa'gé_'switchmg ? Explain.

UNIT — i *

6. (a) Compare errop deteéﬁbh and error correction.

Explain varigug' error detection methods with

the help of suitapq example, .
(b) Explain the CONCeps o oken ring and FDDI in
brief, RS |
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7. (@) Explain the mechanism of gliding window control

Discuss

link utilization for this mechanism also.
b) Explai i 4

(b) Plain various nelwork hardware components

with their usage.,

UNIT -

8. (a) Differentiate between Link state and Distance

vector routing algorithm. How flooding can
. be minimized ?

®) _What 1S Congeshon ? DlSCllSS the policies related

= congeshon and ways of conges’aon control

9. (a) ]D1fferent1ate beﬁy_eer} ";5V1rtua1 c1rcu1t “and

Datagram

(b) What Hfi Encryptlon 7 .

Dlscuss .P@b‘lic-kéy
algorithms for network secunty e

97679-4,250-(P-3)(Q-9)22)  (3)
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97680

BCA 5th Semester
Examination — December, 2022

® VISUAL BASIC
Paper : BCA-304
Time : Three hours] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
question carry equal marks.

1. (a) Whatis Subroutine ?
'(b) How to activate and deactivate the events ?

(c) Whatis Dynéfm'c Array ? |
(d) What is Collection
(e) Whatis Input Box ?
(f) How do you declare constant in VB ?
(g) What is the use of form designer ?
(h) What is form layout ?

97680-4050-(P-3)(Q'g)(zz) | P.T.0.



UNIT — 1

._.15] and Non-Visual] progr .
e Visud g Amming
Differeﬂha

Janguage:

o) What do

3. (a Differentialc Plocedural ind Ob]ect oriented

paradign:
(b) Why Visual Basm 1 v‘:!"”‘!C‘Ellled event

driven

procrrammmg 1angua8

uNT-

4. (a) Explain Relatlonaloperat 1 VB with example.
() What do you mean by Variable ? Explain the

scope and declarationfdflva

5. What is Data Type ? Descrlbe theg-;dlfferent data type
supported by VB. ot

UNIT=I

6. Explain varj Atama ' :
; VBp din various Decision statement with example In

- (@) What j ,
: 1s Array ? How tq declare and use the array ?
xplain with example,

(b) Differentiate while

loop in vB With exa
97680-4050_(

Wend-l(t)op and the dO Whlle
mple,

(2) =
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UNIT - IV

T ?
Explain.

(b) What do You mean by form ? How to add
multiple form in VB ? Explain with example.

9. (@) What is the difference betweeh procedure and

function ?
o) Explain : 5
) _‘.Loa_d, and Unlo_éja Vstate_i_;neﬁt =

97680-4050-(P-3)(Q-9)(22) (3)



